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1 Introduction

Nokia would like to update the unciphering path in the 3GPP TTCN conformance to behave more like the real network.

2 Discussion

Nokia would like to propose at the T1#20 meeting, to update the unciphering path in the 3GPP TTCN conformance test cases. This would allow UE's with UEA1 and UEA0 enabled to go down either the unciphered path or ciphered path without having to disable ciphering in the UE.
We propose to do this because real networks will work in a similar way, for example, UE's can have UEA1 enabled but the network may have UEA0 enabled. The network will still continue signalling as normal.

Below is an example of how the updates would work:

FROM:
	lt_InitCipherMode
	
	
	
	
	

	66
	
	[ px_CipheringOnOff = TRUE ]
	
	
	

	67
	
	[ pc_UEA1_Supp ]
	
	
	

	68
	
	( tcv_CellIndInfo.dL_CipherMode := cs_CipheringModeCmdOn ( uea1 ), 

tcv_CellIndInfo.cipheringAlgorithmCapability := '0000000000000011'B )
	
	
	

	69
	
	[ tcv_CN_Domain = cs_domain ]
	
	
	

	70
	
	( tcv_CellIndInfo.cs_cipheringStarted := TRUE, tcv_CellIndInfo.recentSecureDomain:=cs_domain)
	
	
	

	71
	
	[ tcv_CN_Domain = ps_domain ]
	
	
	

	72
	
	( tcv_CellIndInfo.ps_cipheringStarted := TRUE, tcv_CellIndInfo.recentSecureDomain:=ps_domain)
	
	
	

	73
	
	[ NOT ( pc_UEA1_Supp ) ]
	
	
	

	74
	
	( tcv_CellIndInfo.dL_CipherMode := cs_CipheringModeCmdOn ( uea0 ), 

tcv_CellIndInfo.cipheringAlgorithmCapability := '0000000000000001'B )
	
	
	

	75
	
	[ tcv_CN_Domain = cs_domain ]
	
	
	

	76
	
	( tcv_CellIndInfo.cs_cipheringStarted := TRUE, tcv_CellIndInfo.recentSecureDomain:=cs_domain)
	
	
	

	77
	
	[ tcv_CN_Domain = ps_domain ]
	
	
	

	78
	
	( tcv_CellIndInfo.ps_cipheringStarted := TRUE, tcv_CellIndInfo.recentSecureDomain:=ps_domain)
	
	
	

	79
	
	[ NOT ( px_CipheringOnOff ) ]
	
	
	

	80
	
	( tcv_CellIndInfo.cs_cipheringStarted := FALSE ,  tcv_CellIndInfo.ps_cipheringStarted := FALSE,

tcv_CellIndInfo.cipheringAlgorithmCapability := '0000000000000001'B )
	
	
	


TO (highlighted in yellow):
	lt_InitCipherMode
	
	
	
	
	

	66
	
	[ px_CipheringOnOff = TRUE ]
	
	
	

	67
	
	[ pc_UEA1_Supp ]
	
	
	

	68
	
	( tcv_CellIndInfo.dL_CipherMode := cs_CipheringModeCmdOn ( uea1 ), 

tcv_CellIndInfo.cipheringAlgorithmCapability := '0000000000000011'B )
	
	
	

	69
	
	[ tcv_CN_Domain = cs_domain ]
	
	
	

	70
	
	( tcv_CellIndInfo.cs_cipheringStarted := TRUE, tcv_CellIndInfo.recentSecureDomain:=cs_domain)
	
	
	

	71
	
	[ tcv_CN_Domain = ps_domain ]
	
	
	

	72
	
	( tcv_CellIndInfo.ps_cipheringStarted := TRUE, tcv_CellIndInfo.recentSecureDomain:=ps_domain)
	
	
	

	73
	
	[ NOT ( pc_UEA1_Supp ) ]
	
	
	

	74
	
	( tcv_CellIndInfo.dL_CipherMode := cs_CipheringModeCmdOn ( uea0 ), 

tcv_CellIndInfo.cipheringAlgorithmCapability := '0000000000000001'B )
	
	
	

	75
	
	[ tcv_CN_Domain = cs_domain ]
	
	
	

	76
	
	( tcv_CellIndInfo.cs_cipheringStarted := TRUE, tcv_CellIndInfo.recentSecureDomain:=cs_domain)
	
	
	

	77
	
	[ tcv_CN_Domain = ps_domain ]
	
	
	

	78
	
	( tcv_CellIndInfo.ps_cipheringStarted := TRUE, tcv_CellIndInfo.recentSecureDomain:=ps_domain)
	
	
	

	79
	
	[ NOT ( px_CipheringOnOff ) ]
	
	
	

	80
	
	[ pc_UEA1_Supp ]
	
	
	

	81
	
	( tcv_CellIndInfo.cs_cipheringStarted := FALSE ,  tcv_CellIndInfo.ps_cipheringStarted := FALSE,

tcv_CellIndInfo.cipheringAlgorithmCapability := '0000000000000011'B )
	
	
	

	82
	
	[ NOT ( pc_UEA1_Supp ) ]
	
	
	

	83
	
	( tcv_CellIndInfo.cs_cipheringStarted := FALSE ,  tcv_CellIndInfo.ps_cipheringStarted := FALSE,

tcv_CellIndInfo.cipheringAlgorithmCapability := '0000000000000001'B )
	
	
	


3 Conclusion

Nokia would like to know your opinion or thoughts on this issue.
